EARAROBREBRT —5 XN—ZXBISH—F

20224610898 (B) 8EIEEm4H

I 7 7 —AN2RT v 2B USR2EBHE

BN IR

[AE%] 1 7% :1,500,000 § ~ 237&:525,000  337&:300,000H ~ 43:150,000 ™ 5 3&:75,000 1

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
~/ /% ~3 2 | BEE 1:02.5 3-3 37.8| - 2 | 432 |=EHEE KR
1170 7| 3onyr7ova 2% o o w0 77T
RNT BYILAvY Il #R—
S 8 2 | LUASERSE 1:02.7 2-2 8.5 — 1 435 | AR KR
2 6 EPZE 54.0 (1 172) () |SEERE
RiF4RAITU—bFrvv b BARASYY BSe]
» = :04. - . - {EREHE (KR)
s B 3| pAvENUTE— t2 | B "o’ A 3 e
R:PIAYVI—R B:Y—ANNXF 454~ al  wEE
= (3~ ) —~ v 2 | ERRE 1:04.2 5-6 8.7 — 4 501 | {EE&#EE] (KR)
4|5|5|Z0M¥voO0-9Y 55.0 =) (—) |FEBS
R:FVHh—0 By RFE—F bk e
g~ 4 2 | ROE— 1:05.4 4-5 40.1| - 3 482 | IMEEE (KR)
5 )| RY—=T3aY 55.0 @ (=) %ﬁigg
RPN/ I5YY B NIAL RS USEVS
S = 4 2 | LUABES 1:05.6 =1 ne6| — 6 493 | EERZ ()
611111 "RZ/ATS 54.0 A 1/4) (o) |WART
RLYIT—H— B:TFIU—)N—T U5 &S
~ st 2 | SR 1:06.7 7-7 39.9| - 7 445 | 1BEEZ ()
7 4| FITAY 54.0 @) (- |dHsE
RFEYRIIZF B:FINS A nE e
@ 1—F—&RIEL
13—7—
20—F—
30—7— 1,6,7,2,5,3,4
43—F— 1,6,7,3,2,5,4
@ ILRE
BB 7 2804 JA R 6-7 110MH B & 6-7 180 3EE 3-6-7 5804
B B 7 120/ 3-7 430M =51 7-6 610 3EH 7-6-3 2,320
6 1109 3-6 240/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




